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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-2_0
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G3-2
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m=395, FV0=0 m=445, FV0=0 m=515, FV0=0
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60. 5 A
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59. 5 - 62 -
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64 - —0— ME —— ME 61.5 —&— ME —0— ME
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1000 1005 1010 400 600 800 1000 395 400 405 445 450 455
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G3-2

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS R

06:30 197 150. 0 3.24 E 1BRi%e06:30 Ba1 (RAERE)
07:25 197 150.0 3.24 F BRige07:25 Ba (GRAERESE)
08:35 197 150.0 3. 24 = {Ri%@08:35 B (RFAERSE)
09:40 197 150. 0 3.24 F BRi%e09:40 BEh (RAERE)
10:50 197 150.0 3. 24 5 {Ri%@10:50 B3 (GRAERSE)
12:05 197 150.0 3. 24 =l {Rige12:05 B3 (RAERSE)
13:10 197 150. 0 3.24 E BRige13:10 Bz (GRAERESE)
14:05 197 150. 0 3.24 E| {Rige14:05 B3h (RE{EREE)
15:00 197 150.0 3. 24 =l RRiB015:00 B (RFAEESE)
16:05 197 150. 0 3.24 E BRige16:05 Bzl (GRAEREE)
17:15 197 150. 0 3.24 El BRi&e17:15 Bz GRAEREE)
23t 2167.0 (113%) 1650. 0 3 HFKEC: 2500.0, PH: 6.5

BEXRERLPH (10.33) 5i8EPH (6.5) IREWR K, BT
FERERIPH (10.33) 5FPH (6.5 REKK, FHE

3 [EHECE (2635. 0 vs 3830.0) RS

LRGERIEC (2613.0) S51REIEY (2250.0) REK K, BHHRE.
LORGEBIPH (10.4) 5i&FEE (6.5) RERKK, BRE.
LORGEBIPH (10.4) S5#REIEN (6.5) RERK, BRE.



G3-2_0, Day=29 (2025-06-10)
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Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing
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1500 — | N
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1000 - —@— PPFD obs
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"‘VM% e v

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=390, FV0=0 m=425, FV0=0 m=480, FV0=0

—o— ME 64 7 —o— ME —o— ME
60 63 - 62
62
%81 61
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56 60 .
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_ 59 4
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—o— ME
T T T T T T T 58 ] T T T 59 B T T T
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—o— 60. 5 63 -
61.0 1 M_E 63 —o— ME —o— ME —o— ME
i 62
62 60. 0
60. 5
61 4 59. 5 - 61 -
60. 0
60 - 59. 0 - 60 -
59.5
59 58.5 59
59.0
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G3-2

BfiE) | GEBEATIC () | ERE (EH/f) | ERERE (B/R) | XS R

08:15 194 150.0 3.24 |Z=| {Ri%e08:15 Bz (KREEZEHE)
09:15 194 150. 0 3.24 (£=| 1Ri%e09:15 Bz (REAEZSE)
10:55 194 150.0 3.24 |Z=| {Ri%e10:55 B (KREAEZEBE)
12:25 194 150. 0 3.24 |Z=| {Ri%e12:25 Bz (REEZEBE)
13:50 194 150.0 3.24 |/hfE| {Ri&e13:50 Bz (REERE)
14:50 194 150.0 3. 24 FA| 1BRi%@14:50 B3h (RAHERSE)
Bt 1164.0 (6%) 900.0 3ZHKEC: 2500.0, PH: 6.5

EORGERBTHC R IR AR B E I (194 vs 242.0))

ZRIASLPRIERE120. 0 ml.

REXFEBPH (10.36) S5i&%EPH (6.5) RERK, HFHRE
REXEBPH (10.36) 5FMPH (6.5) REKKA, BFHRE

1 [EKECE (2703.0 vs 4033.0) 1B

LESGEBPH (10.4) 5i&FE(E (6.5) RERK, HEE.
ERGERPH (10.4) S5iRBIE (6.5) RERK, BRE.




G3-2_0, Day=28 (2025-06-09)
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2600 - ® ECC
--------------------- —3¢ X w—R A ey
2400 e L
2200 -
2000 ®
e o ® o o ® o o o ® ,
10 4 optPHO=6. 5, setPHB=6.5 —>—  PHB¥10%
® PHC
8_
6_ N N N N N N N N N £
] 4000
— 400 | BvInit @D31 01:40: ET=2563 Fg=2640.0 Ro=369.0 b
+ +
= 1 - 3000 &
N I >
£ o0 , / - 2000 £
E | ! —/\/ S —
A I
— 100 - | = m @ m O N N EEEEm -}\ -1000u§
- | LN AN NN —— °
1 ——
0 4 2000
0 1 2 | 3] 4] 5 6 7 8 | 9 [ 10 11121314 ] 1516 [ 17 [ 18 [ 19 [ 20 | 21 | 22 | 23
FoRC R 0 N N N 0 0 0 0 >
c 1 5 c
z“; 300 ByEt @D28 19:08: ET=1205 Fg=1200.0 Ro=nan : Z“;
< : - 2000 £
= 200 - i =
= $ b & ® L 1000 ‘E
= 100 - ! 3
1
oh—R——f— 2 2 4000
0 1 2 | 3] 4] 5 6 7 8 | 9 [ 10] 11 [12] 13 ] 14 ] 15 ] 16 ] 17 | 18 [ 19 [ 20 | 21 | 22 | 23
40125 |ZE|ZE| B | H | | B |ZE[(Z2E[(2E (25 (25 (25 (00| B [ZT| 2| 2| |55 |55 |55)| B 5 o~
= 1 _ _ _ - 3000 &
E 300 4 ByWoF\:/ @D31 01:40: ET=958 Fg=900.0 Ro=141.0 E‘
£ : - 2000 £
= 200 i =
= | o
= 100 ! D ) — — — - 1000 §
1 S .
1 0_l=.:I:. - c— | A 0
: 0 1 2 | 3] 4] 5 6 7 8 | 9 |10 11 12 ] 13 ] 14 ] 15 ] 16 ] 17 | 18 ] 19 [ 20 | 21 | 22 | 23
0 3lBElBalBn| W | W | W | W (3232151501222 100| W |32|32152152152122122] % | @&
0.6
0.4
0.2
0.0
1500 - | t
[ ] | _obs
—@— PPFD obs
1000 -
500
°
o RHo obs
2.07 N h'. e v f




60 -

55 -

50

45 A

40 +

%

T
400

660 860
m=645,n FV0=0

60 -

58 -

56

54 -

52 -

50 -

T T
650 655

m=870,m FV0=0

59 A

58

57 -

870

875 880

m=369,m FV0=0

27 A

26

25

24 -

-— MW

H
i
=

365

370 375

m=365, FV0=0

52.5 -

50. 0

47.5 -

45.0

42.5 -

40.0 -

T T
370 375

m=695,m FV0=0

60 -

58 -

56 -

54

61

T T
700 705

m=920,m FV0=0

60

59

58 ~

57 -

56

55 ~

920

925 930

m=425,m FV0=0

31

30 -

29 A

28 A

27 A

- MW

425

430 435

m=425, FV0=0

60. 0

57.5 4

55.0 A

52.5 A

50.0 A

47.5 A

425

T T
430 435

m=770,m FV0=0

60 -

58 -

56

54 -

T T
775 780

m=1005m FVO0=0

61 -

60 -

59 A

58

57 A

56

7

1005

1010 1015

m=550,m FV0=0

32 -

31 -

30 -

29 -

28 -

—— MW

550

555 560

m=530, FV0=0

53. 50 A

53. 25 A

53. 00 ~

52.75

52. 50 A

52. 25 -5

?

555 5é0
m=825,n FV0=0

57.0 -

56. 5

56. 0

55.5

55.0

54.5 -

54.0 -

i

830 835

36

34

32 A

30 A

28 -

26 A

24 -

400

660 860
m=645,n FV0=0

32 -

31

30 -

29 -

28 -

645

650 655




m=695, FV0=0
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G3-2

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

06:05 127 130.0 2. 808 = {RRiB006:05 B (FRFAEEE)
06:50 127 130.0 2.808 E 1BRi&e06:50 Bzl (RAEREE)
07:40 127 130.0 2.808 E|  {Ri1ge07:40 B3h (RFE{ERLEE)
08:45 127 130.0 2. 808 = {RRiB008:45 B (FRFAKEE)
09:35 127 130.0 2. 808 = {RRiB009:35 B (REAKEE)
10:20 127 130.0 2. 808 =l RRi8010:20 Bah (RAEESE)
11:10 127 130.0 2.808 =l Rige11:10 B3 (GRAERSE)
12:10 127 130.0 2. 808 Sl Rige12:10 B3 (RAERSE)
13:10 127 130.0 2.808 E| {Rig@13:10 B3h (GRE{ERSE)
14:00 127 130.0 2.808 E BRige14:00 Bz CGRAERESE)
14:45 127 130.0 2. 808 S| {Rige14:45 B3 (REAERSE)
15:30 127 130.0 2.808 E BRi%e15:30 Bz (GRAERERE)
16:20 127 130.0 2.808 F BRige16:20 Bz (GRAEREE)
17:15 127 130.0 2. 808 =l 1Rige17:15 B3 (GRAERSE)
23t 1778.0 (14%) 1820.0 3EGHKEC: 2500.0, PH: 6.5

large discrepency for begining water status (253:90.0), set
REXEBIPH (10.53) H5i&EPH (6.5) RER KA, HFHRE
REXJEBIPH (10.53) 5FMPH (6.5) RERK, EHRE
BEEIRECE (2737.0 vs 3937.0)fRe
EXGEBIPH (10.4) 518 %EE (6.5 RERK, FRE.

ERGEBIPH (10.4) S5iREE (6.5) REKK, HRE.

to 253 ml.




G3-2_0, Day=27 (2025-06-08)
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m=390, FV0=0 m=425, FV0=0 m=470, FV0=0
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